
www.zippity-outdoor.com VER. 121824

ASSEMBLY  
INSTRUCTIONS

ZP19081

Concord
Light Post w/ Planter Box 

(19 7/8" W x 103 1/2" H)

60 MIN
Approximate assembly time

Want to see a video on how to assemble 
this product?  

Scan the QR code



2

GENERAL INFORMATION

Your product number (ZP19081)

Your original product box

To better help you,
please have the

following

NEED TO RETURN?

* You can also reach us via phone or email.

MISSING OR DAMAGED PARTS?

parts.nychbrands.com

    Visit Our Website
so we can help you right away!

Hours of Operation - Weekdays 9am-5pm EST

If you are having problems with assembly or installation of this product,
please contact at:

NEED ASSEMBLY HELP?

  support@zippity-outdoor.com  704-892-5222 / 877-234-6196 



3

22 1/4 in

103 1/2 in

Top View

19 7/8 in

18 in

18 in

 Planter Depth: 5" or 9.5" (See Steps 6a/6b for details)

 Planter Volume: 0.9 cu ft or 1.75 cu ft
(See Steps 6a/6b for details)



4

 Power Drill with Phillips Bit

 Level

LAY OUT MATERIALS 

 Tools required for a smoother installation 
experience.

 We recommend 2 people for a smoother 
assembly.

Recommended:
For optimal stability, you will 

need to fill the lower chamber 
with roughly 50 lbs of weight. 
Sand bags or small rocks are 

recommended.



5

LAY OUT MATERIALS 

LIGHT POST

Corner Post (4)  
2 1/8" x 2 1/8" x 22"

A

Board (12)  
5/8 " x 4 1/2" x 17 1/2"

B

C

Floor Support Board (4) 
1 1/2 " x 4 1/2" x 17 1/2"

D

Top Board (4) 
5/8" x 4 1/2" x 17 1/2"



6

LAY OUT MATERIALS 

LIGHT POST

E F

G

I

H

Inside Floor Board (4)  
5/8" x 4 1/2" x 17 3/4"

Wooden Post Cap (1)  
3 1/4"  x 3 1/4 " x 1 1/4 "

Top Light Post (1)  
3" x 3" x 79 1/8"

Outside Floor Board (4)  
5/8" x 4 1/2" x 17 3/4"

Bottom Light Post (1)  
3" x 3" x 28 5/8"



7

LAY OUT MATERIALS 

HARDWARE & ACCESSORIES

J K

L

N

M

O

L-Bracket (4) 

Post Bracket (2) Hook (1) 

Dowel (2) Spacer (4) 

Post Caps (8)



8

LAY OUT MATERIALS 

HARDWARE & ACCESSORIES

P Q

T

R

V

U

S

W

2" Countersunk Wood Screw (2)   1 3/8" Countersunk Wood Screw (8) 

5/8" Round Head Self-Drilling Screw (32)  5/8" Self-Tapping Screw 
(18) 

Nut Wrench (2) Nut (6)

X

Flat Washer (12) 

Spring Lock Washer (6)3 3/4" Hex Bolt  (6) 



9

1

2

A x4

B x1 O x2

M x4

Assemble on box or other smooth 
surface to prevent scratching

A

M

B

O
Place 2 spacers (O) 
under your bottom 
boards (B).



10

3
P x4

P

x2
Repeat steps 2-3
to create an 
additional panel



11

5

O x4C x2

4

Place spacer (O) 
under your floor 
support boards (C).

C

x2

P x8



12

6
E x2 F x2

F

E



13

7a

B x4 C x2

 Use this option for a 5" deep planter box.

Top support boards (C) should 
be on the opposite 2 sides as the 
bottom support boards.



14

7b

B x4 C x2

 Use this option for a 9.5" deep planter box.



15

8

E x2 F x2



16

9

H x1

H



17

10

R x4

R

Ensure that bottom post (H) 
is leveled vertically before 
placing your screws.



18

(Recommended)
Temporarily remove your end 

boards for your next step.



19

11

R x4

R

Ensure that bottom post (H) 
is leveled vertically before 
placing your screws.

Secure the lower middle 
floor boards once your post 
is level.



20

Q x8

Ensure that bracket 
(L) is secured to both 
sides of the bottom 
post.

12

L x2

Q

L



21

Return the top end boards.



22

13

I x1 K x1 S x2G x1

N

K

I

S

Q x2

Hook (K) can be 
installed anywhere at 
top of post (I).



23

14

J x2

J



24

15

T x6 U x6 W x12 V x6 X x2

VW

U

X

T



25

Ensure that top post (I) is 
leveled vertically before 
placing your screws.

Q x8L x2

16

Q



26

17
B x6



27

18
D x4

D



28

19
P x16



29

20
M x4



30

Recommended:
Before adding soil, fill the 

bottom chamber of the planter 
with sandbags, small rocks, 
or other dense material to 

maximize the stability of the 
light post. It is advised to fill the 

lower chamber with at least
50 lbs of weight.

Temporarily remove outer 
floor boards to fill lower 

chamber.



31

Recommended:
Light span 12 ft

144 in



www.zippity-outdoor.com

704-892-5222 
877-234-6196

support@zippity-outdoor.com

6935 Reames Rd. Ste. K.  
Charlotte, NC 28216


